U6 notes

llgenitive (case 2) is only used after another word, the meaning must be OF in English!!!
Ruptura musculi obliqui — rupture OF the oblique muscle (gen= 2) of sg!!

Nominative (1) is only use dat the befinning of a sentence:

Musculi obliqui (nom=1pl)

Ren, ren —is = pulmo

Example rete comprises only thewe words?

Calcar (spur), cochlear (spoon), animal

1 radix, radic- is M = pulmo

2 radic- is

4 radic- em

6 radic -e

Ex2/27

Vulnus=N (lacer, a, um) — vulnus lacerum

aqua pro +6 (injectio) aqua pro iniectione

piper (niger, a, um) piper niger

extractum fluidum contra+4 (dolor) dolorem

post + 4 (operatio OF tumor= 2) operationem tumoris
dolor acutus (OF=2 caput +OF=2 femur) capitis femoris

vulnus (abdomen), auris ante (operatio), cavitas (septum nasi), luxatio (digitus secundus), cum
(vulnus sectum),

Vulnus, vulner —is, N = corpus
Iniectio, iniection —is, F = pulmo
Dolor, dolor-is, M

Operatio, operation —is = pulmo
Caput, capit —is, N = corpus

Femur, femor-is, N



